For a child to inherit the disorder both parent must either
be carriers (Ff) or sufferers ().
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Symptoms of sickle celqt\@x

rives body cells of oxygen.
e nclu&tg@ p 1joints and muscles, fever and anaemia.
~ Like most gene?c&

sorders sickle cell is caused by inheriting
two recessive alleles. The recessive alleles for sickle cell are aa. The normal allele is A.
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If both parents are carriers for sickle cell the probability
of each child suffering from the disorder is 1:4 — 25%.
The ratio expected in the children is 3:1, non-sufferer:sufferer.

When you see this ratio you know both parents are carriers (Aa)
and have two different alleles.
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However beware — the ratio 3:1 may be shown as a 1:2:1 ratio (normal:carrier:sufferer, but it still
means the same thing.



